SuMPO EPD
F4TNEBEEE (EPD)
Z$FES © JR-AI-25357E

RICOH

imagine. change.
HrAz)a—

RICOH COMPANY,LTD.

|EPD

VERIFIEP

HE L
HHam1adiy

BEXMRERE
L B=2i32) WLl
[P RHE, R 8.
MR- HEFEE BE-UY1I)

HAOR, TEMLR-HET
s PC311W  (for EU)
FELKR-FET
- TIv5- (EPAR)
-£/70 258/45 . hT- 258/4> (A4)
UM

- BN EEN R RE
CRAAEYMAR LG

FWEHEE

HASHYI- EREBABXFEA-3-6

https://www.ricoh.co.jp/

B

SUMPORIESAINTOT 5 s
— A EE AT AT IR E e
RRBFAEXAFHE-14-8

KANDA SQUARE GATE
https://ecoleaf-label.jp

HhZ—T)8—(EPAR)

P C311W (for EU)

===
ERES JR-AI-25357E
BWAPCRES  PA-590000-Al-08
PCR% CIEYNEwal: 253
NS 20265%3A31H
WIEE®E 2026438180
REEA VAT LFREEA
RAEES JV-AI-25357
IRIAEEEAR 2031438178

PCRLE1-DETE
FEHZE 2023F981H
ZER MG 8z
— A EE AT AT IR E HEEHE
BE=EIRE

SERIREES WHE #z

BEEXRUT-FOMILLIAREE
OAER WAL 5D

AT LRI E R EEEAORIEDIB S E. VAT LRIAE T REEBDAH
EELH,

ISO14025(Z1€-1:

(03) 3777-8111 (ft%)

Zi&ES 1 JR-AI-25357E



SuMPO EPD SUMPOIREESNINTOIS s

‘ sE""’“’o - _ — R EE A Y AT F IR EHE
' 14T NEEES (EPD) ERATRERAHET-14-8
NHRIEE, i & KANDA SQUARE GATE
F#xFS ¢ JR-AI-25357E https://ecoleaf-label.jp
OF1TY1 7V EF MG R
0% 20% 40% 60% 80% 100%
SUEZE) IPCC 2013 GWP 100a 580 | kg-COzeq
[74e2le 0.66 | kg-SO.eq
BRHEE 030 | kg-Sbeq
m OFEMFERE mQH%E = Q&
B @FE - TR nOREE-VY1IIL
P 15H B At | OFEuEREE Q%E Qi |@Em-wEEE| OREE-UFI)
SURZEH) kg-COzeq | 5.8E+02 2.2E+02 1.8E+01 2.4E+01 2.8E+02 3.3E+01
74214 kg-SOzeq | 6.6E-01 2.6E-01 9.3E-02 2.2E-02 2.6E-01 1.6E-02
BERHE kg-Sbeq 3.0E-01 1.4E-01 7.4E-05 1.0E-04 1.6E-01 1.7E-05
@ mE E (4R ©) % 7049 :

I5H Bify mE-mE ({EFFF‘IM}) Bify
FBEAEER 3.7E+01 kg SUS 6.1E-01 kg
BEAEER 7.1E+01 kg TIVIZOA 1.0E+00 kg

55 3 1.0E+01 kg
Z0fthEE 6.1E-01 kg
A 2B MESIRE 1.1E+01 kg
EVEL 14T RE 6.7E-01 kg
32 4.1E-01 kg
myN 1.7E-01 kg
K 3.7E+00 kg
B 2.9E-03 kg
KR BB EAR 1.0E+00 kg
N 1.1E+00 kg
Z0fth 0.0E+00 kg




SuMPO EPD SUMPOIREESNINTOIS s

SE“MI':’,°D _ —BAHEEAY AT F IR E A
4 EPD  sqrnmmsEs (D) PR (R PO 1-14-8
WiE BEE L KANDA SQUARE GATE
F#xFS ¢ JR-AI-25357E https://ecoleaf-label.jp

OEEFREECEATZEMIER
CBREEICAVSYTUAICBVWTEIRLEE SR
- JUv5- (EP)
‘BB OERITST ¢ BRI
EEE AR : 5ERM
BRI © 90,000H03%
KEBRIRIF-AF-T0YIL Ver3 00E E /5 iE%ER
-BEREANEAE (EIRIAK) OBREET ELTWERA,

©-1. 2D DIRFEEEF R

- BRIMROHSHE T ICHEML TWET

ABROETEEE, TEIRTHERNME, M -DEEBISOT14001REEIE THICTITHN TV,
FoRLE S * JQA—E-70001, SGS-CN18/20330.01
https://jp.ricoh.com/sustainability/environment/management/iso

@OERLEZRT-9DEZH
IDEA v3.1.0. &, TOVSLEZFEE VI 16EERALTVET,

®fFE

OT-YEEDHER. PCRELVEE - EEREESRBL LI,
OLLEIOWTE, EE - EERBCRESNEZHERILILHECLIEHONEEA,
(BB5URL ! https://ecoleaf-label.jp/regulation/)
EiF&ES © JR-AI-25357E



